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G7 summit on June

ENERAL AWARENESS
1} Which city hosted the 40 '

4-3,20147(Russia did not participate in the meeting) -

2) Warsaw (Poland)
4) Paris (France)

1} Brussels {Belgium)
3} London (UK)
3) Rome (Italy)

2) Which country will become the 19" member of
Euro Zone on January 1, 20157
1) Denmark 2) Lithuania 3) Sweden 4) Norway
3) Czech Republic

3) The Madhya Pradesh government has appmntf:d
which of the following actors as the brand

Ambassador for its Mamta Abhivaan ( maternal

and child health ) campaign?
1) Vidva Balan 2} Sndevi  3) Madhuri Dixit
4) Priyanka Chopra 5) Hema Malini

4) World Environment Day is celebrated every

the year 20147

1) Think, Eat, Save.
2) Melting Ice-a Hot Topic?

3) Raise Your Voice Mot The Sea Level
4) Don’t Desert Drylands ~ 5) None

5) The United Nations Organization (

declared 2014 as the international yea
1) Small Island Developing Stafe,
2) Sustainable Energy for A
3) Chemistry 4) Forests

year on June3, What is the official slogan for <

1) Simona Halep (Ry
2) Andrea petkovic

2} Ghana 1) Costa Rica

3) Uzbekistan

e following countries is not

corridor ?

2} China

! 3} Bhutan

¥ The secretary General of the Arab League
visited India in December 2013, Name him?

1) Samir Nasibi 2) Amr Moussa 3)Essamsharaf

3) Bangladesh

4) Nabil Elaraby  5) Mohamed Orabi

10} The government has approved Rs 2,035 crore
for setting up the National Cancer Institute in
Jhajjar in 7
!] Punjab

inachal Pradesh

ety the supreme court
eg (o the High courts

SNAlll2and 3
fwing states does not have a

; 2) Maharashtra
nd Kashmir 4) Bihar  5) Gujarat
st Styrene Butadiene Rubber ( SBR)
15 in which of the following states?
jab  2) Haryana 3) Himachal Pradesh
)Bihar  5) Rajasthan
14)5Which state assembly recently passed the anti
superstition bill?
1} Tamil nadu 2) Kerala
4) Karnataka 5) Goa
15) Who among the following designed Ak-47
assault rifle?
1} Andrei Sakharov 2) Mikhail Kalashnikov
3) Zhou Yuelong  4) Michiaki Takahashi
5) Wone of these
16) Which country will host the 2015 FIFA under-
17 world cup football?
1} Chile 2) Russia
4)TUAE 5) Nigeria
17) Which is the first country to legalize the
Growing, Sale and smoking of marijuana?
1) Colombia 2) Cuba 3) Uruguay
4) USA 5) Mexico
-18) Which country began its two year term as a non
—permanent member of the United Nations
security council (UNSC) on January 1, 2014
after taking the security council seat that was
rejected by Saudi Arabia?
1) Syria 2) Yemen 3) Qatar 4) Jordan S}UAF
19) Who has taken over as India's High
Commissioner to the United ngdum in
December2013

3} Maharashira

3) Tunisia




1) Nirupama Rao  2) Sujatha Singh
3) Tca Raghavan  4) Shivshankar Menon
5) Ranjan Mathai

200 Lebron james of USA was chosen as the
Associated press’s 2013 male athlete of the
year. He is a renowned player in which of the

following sports?
1) Swimming  2) Golf 1) Basketball
4) Baseball 5) Cycling

21) Javed Akhtar won the sahitya Akademi Award
for which of the following books?
1) Lava 2) Miljul man
4) Korkai 5) None of these.
22) Which cricketer was given the Sir Garfield
sobers Trophy in December 20137
1) Cheteshwar pujara 2) Mahendra singh Dhoni
3) Hashim Amla 4) Michael Clarke
5 Kumar sangakkara

3) Nirvaan

23) Which of the following was formerly known as

admiral Gorshkov 7

1) INS chakra 2) INS Vikramaditya
3) INS Arihant 4) INS Vikrant
5) None of these '

missile with a range between 60and 170km an
will offer it to friendly countries. It is called?
1) Nag 2) Brahmos 3) Pragati 4) Dhruv 5
25) The world’s first green helicopter which(s
Moiseless and emission free was tested in
Which of the following countries?
1) Italy 2) China 3) UK 4) Ge
26) Jason day of Australia is s fate
which of the following sports?
1) Chess  2)Hockey 3
4) Motor racing  3) GoH
27) *The village’ ( a novel i
1} B.K. Narayan
3) Anita desai  H
5) Kamla das

24) India has developed a tactical surface to surface
;<

ja

2) Raman singh
4) Lal Thanhawla

30) Xayier Bettel has been the prime minister of
which of the following European countries
since Decemberd, 20137
1) Spin 2) Portugal 3) Luxemburg

4) Ireland 5) Ieeland
31) India defeated which of the following countries

to win the men’s world cup Kabaddi in

December 20137

1 USA 2) England

4) New Zealand 5) Pakistan

32) Uk-based retailer Tesco has presence in India
through a joint venture with which of the
following groups?
1) Aditya Birla
4) Munja]

1) Denmark

2) Fixed deposits

o deposits 4] Cum:nt deposits

50,000  2) Rs.1,00,000 3) Rs.2,00,000
4) Rs.5,00,000 5) No such limit
6)Phanush missile was test-fired on November 23
2013 from a naval ship off odisha coast.
Dhanush is naval variant of 7
1) Prithvi 2) Agm 3) Shourya 4)Astra 5) Akash
17) Purulia chhau dance is a renowned tribal
martial dance of which of the following state?
1) Chhattisgarh ~ 2) Bihar  3) Assam
4) West Bengal 35) Meghalaya
38) The supreme court consists of one chief Justice

" and?
1) 25 other Judges 2) 28 other Judges
3) 30 other Judges 4) 29 other Judges
5) None of these

39) Which country will host the NATO summit in
September 2014 7
1) Belgivm  2) Germany  3) Netherlands
4 UK 5)USA

40) Anti-Terrorism day is observed on 7
1PMAY 11 2)MAY 21 3) MAY 13
4)MAY 15 5) MAY 17



Directions (Qs. 41 to 52): Rend the follmeing passoge
rorefilly and answer the guestions given helow i, Cerfain
words kove been printed in bold to help you locate them
while answering some of the guestions,

Keshava, the washerman had a donkey, They worked
together all day, and Keshava would pour out his heart to
tha denkey. One day, Keshava was walking home with the
donkey when he felt tired. He tied the donkey to a tree
and sat down to vest for a while, near a schoal. A window
was opan, and through it, a teacher could be heard scold-
ing the students. "Here T am trying to turn you donkeys
into human beings, but you just won't study!” As soon as
Keshava heard these words, his ears pricked up. A man
who could actoally turn donkeys into humans ! This was
the answer to his prayers, Impatiently, he waited for
school to be over that day. When everyone had gone home,
and only the teacher remained behind to check some
papers, Keshava entered the classroom.

"How can I help you? asked the teacher Heshava
scratehed his head and said, "T heard what youa said tothe
children. This denkey iz my companion, If you made it
human, we could have soch good times tegether” The
teacher decided to trick Keshava, He pretended to think
for & while and then said, "Give me six months and 1t will
cost vou @ thousand rupees.” The washermen agread and
rushed home to get the money. He then leff the donkey in
the teacher's care,

After the six menths were up, Heshava went to the
tencher, The teacher had been using the donkey for his
own work. Not wanting to give it up, he sald, "Oh, yeur
denkey became so clever that it ran away, He is the head-
rnan of the next village”. When EKeshava reached the next
village he found the village elders sitting under & tres,
discussing serions problems. How surprised they were
when Keshava marched Gp to the headman, grabbed his
arm and said, "How dare vou? You think yeu are-so clever
that you ran away 7 Come home at oneel” "

The headman nnderstood someone had played a trick |
ot Keshava. "1 am not your donkey!” he saad. "Go find the |
zage 1o the forest.” Keshave found the sage sitting oy
a tres with hiz eyvee closed, deep in meditation. He
ap and grabbed the sage's beard. "Come back home noy
e shonied. The startled sage somehow calmed Keshava,

take it back from him, Try to make some red
will talk with you and sharve your troubfes. 4
never be abla to do that!" Keshava reg
it day with his donkey, eadder and wiheg
41. Which of the following
tegcher?
1. He had the sbiity &
human beings .
4. He took advantsg
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E
£
3
g
&
g
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bereanse he wanted to make friends
2. To entertain himself because he found his work |
meaLondg .

3. The donkey helped him to find answers Lo his

problams,

4. He regarded the donkey as his friend and eonfid- :

ed in him

5. He believed the donkey to be & human being in |

disguise

43. Which of the following is not true in the con- |

text of the passage?

A, The donkey was overburdened by the teacher.
B. The teacher was cunning by nature,

. The eage laughed at Keshava and teeated him

unkindly.
1. Bath (A} & (C) 2. Both (B & ()
5. Omly (D} 4. Al (AL (B) & (C)
5. Nome of these

44, What made Eeshava g

1. He wented to wals
under the tree

zaEe’s heard?
who was asieep

educe Keshava's dependence on the donkey
wasitad reseae the donkey from Keshava who
ot know how to treat the donley properly.

Cmly (A) 2. Omly (B)
Foth (A) & (B) 4, Omnly {C)
5. Mone of these

'H’hyw.s-Ennhavakaentnmtthl teacher one
day 7
1. Keshava wanted to ask the teacher how to make
hiz donkey a better companien |
2. Hawanted'to learn more prayers as he was devout
3. He had been reliably informed that the teacher
had changed donkeys into human beings
4. He heeded the teacher's words of adviee and
wanted to study
5. Mane of these
‘47, How did Keshava get his donkey back?
1. Ha threatened to take the teacher to the village
elders
2. The sape foreed the teacher to relaass the donkey
3. He asked the village headman for help
4. The tescher returned it on learning that
Eeshava had laarnt his lesson
6. Mons of thesa )
48 Why did Keshava interrupt the discussion
among the village elders.
1. He did not agree with their views on different
ingues,
2 T confront the headman who had cheated him
out of one thousand rupees
3. He wantad them to get justice for him
4. He was looking for the donkey and wanted to ask
for directlons
3. Mone of these
Directions (@s. 49 & S0 Choose the word whick is
most similar in meaning to the word printed in bold as
used in the passoge.



48, remuined _
L pending 2. waited 3. lnsted 4. survived
5. continued -
50, trick
1. joke 2. gkill 3, mislead 4. techrigue
4. funny
Directions (Q¢. 51 & 52): Choose the word which s
mast opposite in meaning to the word printed in bold as
used in Hhe passage
51. deep
1. low 2. distracted 3. flat 4. awake
] 5. asleep
5L, real
1. false £, imitated
4. dishonest 4. imagine
. EENUINe
Directions (Q@s. 53 to 57): Which of the phrases (1),
(2}, (3} and (4) given below exch sentence shonld replace
the phrase printed in bold i the sentence to make if gram-
malicelly correct? If the sentence-Is correct as i b5 given
amd "Wo correction is required’, mork (5) of the answer,
73 The company has set up a foundation which helps
students who do not have the neceszary funds to
‘study ahead. .
1. further to study 2, of studying more : . |
3. to study omward - 4, for higher stodies
b. Mo correction required
54, If this land ia used to cultivate crops it will be addi-
tiomally souree of income for the villagers,
L. a source of additional 2. an additionally souree
3. an additional source 4. additionally the source
5. Mo correction required
55. Belonged to this cadre, vou are eligible for facilities
such as fres air travel and sccommodation.
L. Since you belong to 2. Whoever belongs
3. For belonging to 4. To belong in
5. Mo correction required
56. The bank kas hived a consultant who will ook into
any issues which arise during the merger, i
1. is looking over 2, will be Jooked aftd
Z. will look out 4, looks down on
5. Mo correction required
. I had severs doubts about if I snceess]
eompany, but my father encouraged
L if I am puccaesful in
2. how should [ sueceasfully
3. whether [ could suecessfully
4. that I would sueceed to
3. No correction requires .
Directions {Qs. 58 o 62): Tn pation below a -

These are pumbeared a341) e of these four |
words printed i bola either wrangly spelf or itrap-
propriste in the oo serfence. Aind owd the word
which i wrongld } ppriate if any. The num-
her of thai the words printed in
bold are corrietly & pproprinte in the contest
of thir sen ! correct’ as your answer.
G4, Inforderth suecsed (155 18 erucial (2) for an organ-
antly {3) improve (4). A1 eorrect (5)
58, With somg as ance (1) from her son she was
enable (2) tegeftle (3) her debts (4] on time. ﬁ]l{:ura

Gl 'We have prepared a detailed (1) report giving vari-
ous (2] solutions (3) to resort (4) the problem. All
correct (5]

" §1. EBI has attempted (1) o spend (2} financial (3]
awareness (4) Lhrnugh this programme. All correct
(5
2. Though the government initiated (1) a large sum
%) of money in the scheme (3} it was a failure (41,
All correct. (5]

Directions (Qs. 63 te 67): Rearrange the following
six sentences (A, (B}, (C), (D), (E) and (F} in the proper
seguence fo form a meaningful paragraph; then onswer

" the guestions given helow them.

A. 1 wae pleaséd by their reaction,

B. Writing my speech was easy, but T was unsure if T
could motivate the employees to donate to those
affocted by the earthquake,

. Instead of throwing out thel
had transferred them U4

nugable articles, they
iffice in the name af

donations.
). When a reputed cogipany it deliver a lec-
ture on Corporate Sdeipl Redponsilulits, [ agreed

. E. It iwas an afloent-eempany ant the well dressed

ac 4. D

allpwing should be the FIRST sen-

pr rearvangement?
2B 2C 4.0

ich of the following should be the LAST (SIXTH)
tence after rearrangement?
.B 2.0 3D 4+ E
6. F
56, Which of the following ghould be the SECOND sen-
tence after rearrangement?

1B 2 C iD 4. E
5F
67, Which, of the following should be the THIRD sen-
tenee after rearrangement?
1A B 3.0 4D
5 E

Directions (Qs. 68 to 720 Reod ecch sentence to find
{ out whether there iy any grammatical error o idiomatic
error in i The error, if amy, will be in one porl of the ser-
| tence. The nufiler of that part is the answer. If there iz ne
L arror, thie ariawer ia (5], (Tgrnore errors of punctualion, if any.)
i Gd. Ttis necessarily to maintain (1) a record of all trans-
actiens (2} in case the awditore [H‘.ﬁ" wanl to sea it

‘ (4 No error (5) .
| 69, Very few young brainees [lh’“'ﬂhngijr undertake {2}
| a posting tora branch (3¥located in a rural area. (4}

i Mo arror (6]

70, He has travelled {1} all over the world (2F vet he |
speaks (3}, several languages fluently. (4) No error (5] |

T1. A successful company iz (1) any that makes a' good
{2} profit-and provides (33 high returns to 1ks share-
holders. (4} Mo error (5}

72, The agreement on (1) which all of us have (2V
worked so hard will tEI]-’ b mgn tarnorrow. SN Mo

- error (G}

Directions (@s. 73 to Bk fn the following passage

- there are blanks, eack of which hae been numbered, These

rumbers are printed below the passoge ond agoinst ench, |
five words are suggested, ong of which fits the bank |

approprictely. Find out the appropriate word in each oase,



Tisday, twenty-two years after the bank ...{78).., it has
=yar o thousand branches all over the country and the
"gtall .(Td)... about twenty-thres lakh borrowers. We
decided to operate ...(T3)k.. from conventional banks who
would ask their cliemts to come to their office, Many peo- |
ple in rural areas found this ...(78).... Our bank is there- |
fore based on the w.T7)h.. that people should not come to E
the bank but that the bank should go to the people. Our |
loans are alse .-{78).. we give them for activities from
candlemaking to tyre repair. We also keep ...(T9).. checks

on the borrower through weekly visite. We do this to make |
certain that the family of the borrower iz .{B80)... from the
LInt ] 5 |
75 1 inmogurated 2. ongtn g
3. commendge 4. existed |
b began '
4. 1. handle 2, assemble 3. cope 3. interact
b deal
5. 1. identically 2. differently -
5. similar 4. reverse
O, opposite . 5
76. 1. threstening 2 worried 3, uwpset 4, panicking |
5. anxtous H
77. L advantage 2. principle
3. discipline 4, ppportunity I
&, chanee . i
T8 1. diverse 2 worth 8, vary 4. disburse |
&, contrast |
78, 1. daily . consistently ' |
3. regular 4. often .
5, frequently I
80, 1, progress 2 benefiting 3. serving 4. welfare |
5. obliged "

Direction (Qs. 81 to 90): What should-come in place !
of the guestion come in ploce of the question mark (Thin the |
Jollowing question?

Bl (TRE =64} +4B8 =T
1. 1050 2. 1024
5. Mone of these

B2, %ﬁﬂx'\"; = BG4
1. 1296 2. 1166
5. None of these

. 60% of 20% of 3 th of ? u 450

3. 1048 4. 1034

3. 1600 4.

1. 6200 2, 6240 3. 6150
5. Mone of these

. 196 x 948 « 156 ="7
1. 1156 2, 1200
5. None of these

. 35+ 1128 x .5 - 32567
1. 18275 2 21.58

4, 35, 06

4. 1324E

5, None of thesa

I 100. Bonali invests 15% of her manthly

&9, (910 + (41)% = /7 = DESK

111236 2 10816 a. 10404 4. S604
5. None of these

80, (2640 + 4B} = (2240 + 35) =7
1. 3620 2. 3515 4, 3480

3. 3405
5. Mone of these '
Dirscﬁn:t st 81 to 85): What should come in ploce
of the guestion mark (£ in the following rumber series?
91. 121 117 108 92 &7 7

1.31 2 29 3.41 4. 37
5. None of these
92, 50 26 14 7 5 45
L& 2.8 3. 10 4,12
&, None of these
3. 8 23 43 T B3 108
1. 33 2,58 4. T3
5. None of thasa
4. T4E TAT 715 GEE.E3E
1, 504 4. 563
4. 131
BB, and frogs in a pond is 37 : 39
verage number of ducks and

potud iz 152, What is number of

4. 144

' many different ways can the letters of
ford 'ARISE' be arranged ?
2, 60 3. 180

3. Mone of these

38. The number of employees in Companies A, B
and C are in a ratio of 4 : 5 : 8 respectively. If
the number of employees in the three
Companies is increazed by 25%, 30% and 500%
respectively, what will be the new ratio of
employees working in Companies 4, B and C

4. 120

respectivelya ?

1.13:10: 18 210:13:17
3.13:16:18 4. Cannot be determined
5, None of these

.99. The average of five positive numbers iz 213,

ﬁ :‘;:ragq of the first two numbers is 2395
average of last two
What is the third numbey ¥ rmbers is 271

1. 64 Z 56
3. 106 4. Can nat be determined
5. None of these

R salary in
s p&h-imu.ﬂhnnpends 85% of her
monthly salary in shopping and on household
expenses. She saves the remaining amount of

Hs. 12,750, What is Sonali's monthly Income?
1. Rs.42 500 2. Ra.38.800

2. Rs. 40,000 4. Re. 35,500

§. None of these



mmnm iQs. _il!.L'! ) .!-I!HJ Study the follocing m,bn'.e curs,r‘uﬂy n.rzn! amnswer z-!re.se quﬁﬂtma
Total Residents and Percentage of Wemen out of those Living in Various Bocieties (ver the Years

| Residents A B C i} E
[ Years % of Total % of Tatal "% of Total %of | Total Tof | Total
Women | Residents | Women | Residents | Women | Residents | Women | Residents | Women| Residents)
2002 dd 250 35 280 a5 00 A0 180 40 230 |
2003 45 260 30 270 40 250 60 | 170 65 240
2004 36 240 45 300 45 260 0 200 50 250
= | 2005 40 250 55 320 55 280 80 210 45 220 | -
2006 50 220 5O 300 56 240 #5 250 50 240
2007 m 240 Eitl 340 60 250 &0 230 40 260

i What is thl difference bﬂumn t]m tntuI rml— -

dents living in all the societies together in the
year 2006, and the total residents living in all
the sonieties together in the year 2007 7

1. 10§ 2. 85
3 70 4, 50
5. Mone of these

12, What is the average number of men living in all
the societies together in the year 2005 7
1. 116 2. 125 8115 4.120
5. None of these

10&. What is the respective ratio of men living in
Bociety C in the year 2002 to the year 2008 7

1. 16:18 2, 11:16
3.16:11 4, 1%: 15
5. None of these

104, What is the average number of women living in
ull the societies together in the year 2005 7
1. 180 2,131 3. 125 4. 140
5. Nong of these

L05. What is the respective ratio of the number of
wmn.enbnﬂmi.;ﬂal residents in Society E over

the years?
1. 69 : 143 2 344 :T15
3. 173 : 358 4 346 T17

G hm:neat’meae

104, What nppﬂq:lml.h muu.u‘l: ut'nnmponndm
est can be obtained on an amount of

at the rate of 8 p.e.p.a. af the end of
1. Ra. 1,737
3.Rs, 1,720 -i. Rs. 1. il
5. B=. 1,843
107. A milkman sells 120 litres of jm
and he sells 240 litres of milk §
much concession does, the
of milk, when he sells
1. Rs, 2 2 Bs. 3.6

R, When 3626 is divi couare of a number
and the answe 'I'I'|.'.1.|IH naltiplied by 32,
the final ansvire i 04GR

108, The'swiryf the two digits of a numbes is 14. The
ifference befween the first digit and the sec-
wo digit number is 2. What is

ne two digits of the two digit
number?
1. 56 2 48
3 45 4. Cannot be determined
5. None of these

uﬂ.ﬁmmmﬂthnnpmﬂniﬁﬂhmperhm:r

11, What is the respective ratio of the number of
students from the faculty of Arts studying in
eollege C to the number of students from the
faculty of Arts studying in college D ? g
1.13:9 2,13: 10 3818 4 10:13

¢ B, Mome of these

12 What is the average number of students study-
ing in college A from all the faculties together?
1. 26000 2, 2R 3, 26500 4. 27000
5. Nome of these

113. What is the average number of students from the
faculty of Arts from all the colleges together?

1. 26250 2. 27250 3. 2000 4. 26500
5. None of these ;

4. The students from the faculty of Commeree
studving in college B are approximately what
pereent of the total number of students study-

ing in the same college”
1. d0 2. 3. 43 4. 48
5 53

115. Whntnthlﬂdﬁum&b!twm the total num-
ber'of students from the facully of Commerce
from all the colleges together and the total
number ﬁ'ﬂhfhﬁ: faculty of Scienes
from all .'.II!- collegs together?

120000 .2 10000  3.26000 4, 15000

5. None of thess . '

Directions (@s. 116 fo 120); What approximate.
value should L‘m:emplmuﬁﬂﬂhethﬂn reark (£ in the
following guestiona? rﬁu are not expected & calculale the
exact palue)



458 541 654 863 783

136, If in each number all the three digits are
arranged in asecending order, which of the
following will be the lowest number?
1. 489 2. 541 3. 854 4. 953
5. 783

- I five is subtracted from each of the numbers,
which of the following numbers will be the dif-
ference between the second digit of second
highest number and the second digit of the

highest number? .
1. Zaro 2.3 31 4.4
b2 '

138. If in each number the first and the second dig-
its are interchanged, which will be the third

highest number?
1480 2 541 3. 654 4 853
8. 783

138, Which of the following numbers will be
obtained if the first digit of lowést number is
subtracted from the second digit of highest num-
ber after adding one to each of the dumbers?

'_1.'1 2.2 3.3 & 4
5.5 :

140. If in each number, the first and the last digits

Are mtarnlmnned,. which of the following will -

be the second highest number? .
1. 489 2. 541 &, 664 4. 855
5 TB3

Directions (Qs. 141 fo 145): Read the. following '
information corefully and answer these questions: :
‘A — B means ‘A is father of B'.
‘4 + B' means ‘A is daughter of B'.
‘4 = B means ‘A is son of B
' % B’ means ‘A is wife of B',

141 How is P related to T in the expression 'P+8-T'
1, Sister 2. Wifd 3. Som 4, Daagh
5. Mone of these _

142, In the expression 'Px-T" how is 'T
1. Daughter 2. Sister
3. Mother 4. Can't be depérg

o Hnne of these

1L.Px8sT
3. P=-8+T
5, None of these

144, Which of the followingq
=7

1LFe Q=58

3 P:=Q+58

5. Mone of thess
148 In the expressi

e faﬂlm ﬁ:.- ,rbur— combing-

of that mmbmﬂ g 9 your answer, If none ﬂf.i.i'ae combi-
nations ‘i correct, your anseer i 8, Le. None of these

Latters: QMBINGDEALFREBJE
NumberBymbol: 7 @ 4 9 % 3 6 1 2£5 * 983

Conditions:
i. If the first letter is a consonant and the last a
vowel, bath are to be coded as the code of the
wrwel

ii. If the first letter is a vowel and the last a conso-
nant, the codes for the first and the last are to be

interchagged.
iii, If no vowel is present in the group of letters, the
gacond and the fifth letters are to be coded as &.
146, BARNIS )
1. Ga#d
3. B2 ERD
5. None of thesa
147. DMBNIA
1. GEDHRD
3. DEDTND
5. Mone of these

2 BR4EHT
4. d2H#%4

4, F13TAG

3. £E21we 4, #ES21#

ight persons A, B, C, D, E, F, G and. H work for
ge different companies namely X, Y and Z. Not more
& ymmwmifurammpauy.ﬁanunun]}' twa
pefies in the group who have different specialisations and
work for differént companies. Of the group of frends, two
have spectaligation in each HR, Finance and Marketing,

. One member is an engineer and one 15 a dector. His an HR
' specialist and works with a Marketing specialist B who

does not wark for company Y. C is an engineer and his gig-
ter works in company Z. I is a specialist in HE working in

' pompany X while her friend G i= a finance specialist and

works for company & No two persons having the same
apecialization work topether. Marketing specialist F works
for company ¥ and his friend A who is a Finance expert

+ warks for company X in which anly two specialists wark,

Mo lady 15 a Marketing specialist or a Doctar.

161. Which of the following combinations is correct?
1. C <Z - Engineer 9 B =X - Doctar
3 H-X-HRE 4. C =Y = Engineer
5. Mone of these

152 For which of the following companies does C

work?
1LY .X
3 & 4. Data inadequate
5. Nane of these
153, Which of the following pairs reprosents the two
ladies In the group?
LAandD & BandD
3. Dand G 4, Dats inadequats
5. Mone af these

154, Which of "the I.'i:ll.ﬂ'DI'Ini rnprmﬁnm the pair
working in the same company?

1. Dand C 2 Aand B
3. AandE 4, Hand F
§. Nome of these

155 Who amongst :hefﬂan&s is a doetor?



.1 H I

3.C 4, Either E ar C

5. None of thess

Directions (Qs. 156 to 160): In cach of these gues-

g Hons which one of the five answer figures should come after
| the problem figures, if the sequence wers continied?

L56.

157,

158

1.

Problem Figures
[ Sl 1] T =)
Bopa efe = als D _ofs =
Answer Figures
t
|
= A
1 b 4. 4 5
Problem Figures
f
| —< | — |3~ je3— |e—o
Answer Figures
lesee | s | i | —2e | —es
| pegd | M | G3ED | Me e

1 2 3. 4 5.
Problem Figures
el =l S e
lr_'\' RN PSS PR P
Answer Figures
[ & o1 L <l N
s &, 4, w ! &
ll':. _J"\ —l"“. --.""'.- —i'- i
1 2 3 i B.
Problem Figures
[sllzlisl&
I i L] -
Li‘wa' @ s
Answer Figures
O @ o2
1.

TN
<he
Az
EE.

M

EHGL
I
*”%

Dlm

o0

161,

Wlﬂeh of tha :‘-ulinwing groups consists of only
output devices?
L. Seanner, Printer, Monitor

. 3 Eeyboard, Prigtar. Muonitor

162,

163.

3. Mouge, Printer, Monitor
4, Platter, Printer, Monitor

5. None of these

Aln) — contains commarids that can be selected.
1. panter 2. menu 3. icon 4. batton

5. None of these

IT stands for

1. Informatlon Technalogy il g'l'al-ed Technology

3. Intelligent Technology ™4 aating Technology

5. Mone of these

dthmetic eperations

" imwolve matching one data item to another to

determine if the first ftem iz greater than, equal

to or less than the other item

9. gort data items according to standard, predefined
griteria in ascending order or deacending onder

3. use conditiong with operaters such as AN, OR,
and NOT

“ 4, indlude addition, subtraction, multipligation, and

division
5. None of thessa
169. Which purt.ai‘the-murpmer helps l-u-stnm infor-
mation?
1. Disk dripe 2. Kayboard
3. Monitor & Printer

170,

5. Mone of these

"The process of & computer receiving informa-
tion from a server on the Internet is kmown as
1. pulling 2. pushing

3. downloading 4, transferring

B. Mone of these

171. The rectangular aren of the sereen that dis.

plays a.program, data, and’ or information is a

1. title bar 2. bution
3. dialog box 4. window
&. None of these
172, — is the process ncrum.iiqro-m commands,
1. Fetching 2. Bioring
3. Executing 4. Decoding
5. None of these

173 Which of the followmg refers to the fastest,

biggest and most expensive computers?



| 182, Ome of the methods fi

1. Personal Computers 2. Bupercomputers
3. Laptops 4. Nateboaks
3. Monw of these

174 The role of a — pemerally is to determine a

buyer's needs and mateh it to the correct hard-
ware amnd software,
1, compuker scientist
2. eomputer sales representative
4. computer consultant
4. corporate trainer
5. Mone of these
175 Delivery Channel means
1. maternity wards
2. handing aver the products to the bayers
3. places where products are made availahle to the hiuyers
4, All of these
5, None of thess
176, Which is the part of a computer that one can
towch and feel?

1. Hardware 2, Software
3. Programs 4. Outpat
5. None of these

177. A series of instructions that tells a eomputer .
what to do and how to do it is called a

L. program 2, command
3. user respanse 4. processor
. None of these

178 Market Expansion means
1. hiring more stafl 4, finng more staff

&, buying more produets 4, buying more companies

&, growth in sales through existing and new products
170, Effective marketing helps in

1. developing new producta

2. ereating & competitive environment

3. building demand for products

4, All of thess

3. None of these ) )
180, Which part of the computer displays the wor

done? )

1. RAM 2. Printer

4. Monitor 4. ROM

5. None gf.-;%au
181l Any data or instroction entered intdth

¥y of & eomputer is considered as

1. storage 2o

3. input

i, None of thege

1. to watch TV serials
2. to discuss with o
A. to monitor medd

mpivducts through various means
4. pelling the product in specific areas
G. All of these

185, Microsoft Word is an example of
1. an operating system 2. & processing devioe
3. application software 4. an input device
b. Mone of these
186, Processing involves
1. inputting data into a computer system
2, transforming input inte cutpuat
3, digplaying optput in a useful manner
4, providing relevant answars
&, None of these
187, A Call in Marketing means
1. to phéne the customers
2. to visit the customers
3. to visit the Marketifig

g 2. village fairs
. dtior to door campaigns 4. All of these
& None of theee

The target group for marketing of Educational
Loan is .
1. all eustomers
2. students
3, anly poor students
4. students with good academie record
. All of these
192 After Soles'Service is not the job of
1. Marketing staff
2. Balea-persons
#. Directoes of the COMPRRY
4, Employees of the company
5. All the above are false
184, Innovation means
1. produet designing
2. new ideas ) |
4. motivation |
4, Only 1 & 2,
&, Only 2. &3, |
i84. A good Salesperson should have following qual-
ity/qualities i

1. job commitment 2. sociability
%, empathy 4, All of these
&, None of theea

186, Successful marketing aims at
L. increasing the sales volume
2. increasing the profits
3. inereasing the outpat of the sales persons
4, All of these
&, Mone of these



195, Internet Marketing means
1, Marketing to oneself
2. Marketing to the core group
4. Marketing to the employees
4, All of thess
5. None of these
187. Market Survey means
1. Market Research ‘2. Market Plan
3. Marketing Strategies 4. Market Monitoring
5. All of these
198. Rural Marketing need not be resorted to
heeause
1. rural persons do not understand marketing
2, it iz not cost viable
3.1t 1e & waste of time
4, all the statements are false
5. all the statements are trae
199, Networking makes Marketing

1. very difficult 2. very cumbersome
3, easy to handle 4. has no role in market-
ng )
5. None of these
200. The target Group for marketing of Internet
" Banking is

1. all cestomers

2. all literate customers

3. ali computer literate customers
4., only borrowers

5. All of these
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